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ML9 Chapter 2 Get Ready Answers

BLM 2–2 Chapter 2 Get Ready

1. a) 152.85714  b) 272.430  c) 390.16600

d) 3.2020202

2. It is less than since we are multiplying by a number less than 1. 

3. The answer will be greater than 3 since we are dividing by a number less than 16.
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9. a) 
[image: image21.wmf]5

9

  b) 
[image: image22.wmf]2

3

  c) 
[image: image23.wmf]10

3

 or 
[image: image24.wmf]1

3

3



























































Copyright © McGraw-Hill Ryerson, 2009
Copyright © McGraw-Hill Ryerson, 2008

Copyright © McGraw-Hill Ryerson, 2008


_1288175539.unknown

_1288175601.unknown

_1288175846.unknown

_1288177051.unknown

_1288177084.unknown

_1288177110.unknown

_1288177124.unknown

_1288177072.unknown

_1288175875.unknown

_1288177024.unknown

_1288175860.unknown

_1288175634.unknown

_1288175828.unknown

_1288175622.unknown

_1288175564.unknown

_1288175581.unknown

_1288175552.unknown

_1288175353.unknown

_1288175514.unknown

_1288175381.unknown

_1288175395.unknown

_1288175239.unknown

